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1. Find the HCF of 30,72 and 432.



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_40lKWChBaBYn

[ ° Watch Video Solution

2. If a, 8 are the zeros of the polynomial

1 1
422 + 3z + 7then find the value of — + —.

a

o Watch Video Solution

3. The coach of a cricket team buys 3 bats and
6 balls for Rs.3900. Later, she buys another bat

and 3 more balls of the same kind for Rs.1300.


https://dl.doubtnut.com/l/_40lKWChBaBYn
https://dl.doubtnut.com/l/_xtnYPQm5r9TC
https://dl.doubtnut.com/l/_W9cexnujqdzr

Represent this situation algebraically and

geomentrically.

° Watch Video Solution

4.The 4th term from the end of an AP -11, -8, -5,

w49 15

o Watch Video Solution

5. Write the number of tangents to a circel

which are parallel to secant.


https://dl.doubtnut.com/l/_W9cexnujqdzr
https://dl.doubtnut.com/l/_F5jhitvIGocu
https://dl.doubtnut.com/l/_3hz8MbB58Lz8

° Watch Video Solution

6. A die is trouwn once. Find the probability of

getting an even number less than 5.

o Watch Video Solution

1. There is a circular path around a sports field.

Soma takes 18 minutes to drive one round of


https://dl.doubtnut.com/l/_3hz8MbB58Lz8
https://dl.doubtnut.com/l/_LtRWkOaNTGOO
https://dl.doubtnut.com/l/_V54navqmdBTs

the field, while Ravi takes 12 minutes for the
same. Suppose they both start at the same
point and at the same time, and go in the

same direction. Afte

° Watch Video Solution

2.Find the zeroes of the quadratic polynomial
y® 4+ Tz + 10, and verify the relationship

between the zeroes and the coefficients.

° Watch Video Solution



https://dl.doubtnut.com/l/_V54navqmdBTs
https://dl.doubtnut.com/l/_i4iinhpZMs6t
https://dl.doubtnut.com/l/_UAQEXPdvRDwC

3. Value(s) of k for which the quadratic
equation 2z? — kz + k = 0 has equal roots

is/are

° Watch Video Solution

4. In a triangle ABCk right angled at B, if

1
tan A = ——. Find the value of cos A.cosC-

/3

sinAsinC.

o Watch Video Solution



https://dl.doubtnut.com/l/_UAQEXPdvRDwC
https://dl.doubtnut.com/l/_VxJaB6fiY61W
https://dl.doubtnut.com/l/_LEVqSp51y2oG

5.In AABC, right angled at B, AB = 5 cm and

/ACB = = 30°.Find BC and AC.

o Watch Video Solution

6. Find the area of a quadrant of a circle whose

circumference is 22cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_LEVqSp51y2oG
https://dl.doubtnut.com/l/_ACQuBkygOFiB
https://dl.doubtnut.com/l/_MDpDRKFoJQb5

1. Prove that 5 — 4/3 is an irrational number.

o Watch Video Solution

2. Divide the polynomial

p(z) = z* — 32% + 4z + 5 by the polynomial

2

g(z) =2 —x+1 and find quotient and

remainder.

° Watch Video Solution



https://dl.doubtnut.com/l/_MDpDRKFoJQb5
https://dl.doubtnut.com/l/_ww4QSm7oPq6C

3. A boat goes 30 km upstream and 44 km
downstream in 10 hours. In 13 hours, it can go
40 km upstream and 55 km downstream.
Determine the speed of the stream and that of

the boat in still water.

o Watch Video Solution

4. A sum of Rs 700 is to be used to give seven
cash prizes to students of a school for their

overall academic performance. If each prize is


https://dl.doubtnut.com/l/_M20qVyqjboom
https://dl.doubtnut.com/l/_HwrhmoGGbKGI

Rs 20 less than its preceding prize, find the

value of each of the prizes.

° Watch Video Solution

5. Find the point on the =z-axis which is

equidistant from (2, — 5) and ( — 2, 9).

o Watch Video Solution

6. Find the value of k if the point

(2,3), B(4, k) and C(6, — 3) are collinear.


https://dl.doubtnut.com/l/_HwrhmoGGbKGI
https://dl.doubtnut.com/l/_Q9IXB2eFc6Dp
https://dl.doubtnut.com/l/_WJTqzomxftS9

° Watch Video Solution

7.1n an equilateral triangle ABC, D is a point on
1
side BC such that BD = EBG Prove that

9AD? = TAB>.

° Watch Video Solution

8. Two tangents T'P and T'QQ are drawn to a

circle with centre O from an external point 7' .

Prove that ZPT(Q = 2Z0PQ) .

| e |


https://dl.doubtnut.com/l/_WJTqzomxftS9
https://dl.doubtnut.com/l/_fIB2pXQIJ50T
https://dl.doubtnut.com/l/_YSnOGUQpNGxH

& Wwatch Video Solution I

9. The arithmetic mean of the following
frequency distibution is 25. Determine the

value of p.

Class interval 0-10 10-20 20-30 30-40 40-50
Frequency 5 18 15 4 6

o Watch Video Solution

10. A child has die whose six faces show the

letters as given below:


https://dl.doubtnut.com/l/_YSnOGUQpNGxH
https://dl.doubtnut.com/l/_28RYEMDGLFIG
https://dl.doubtnut.com/l/_5KNhykOUTZQ2

(4] (8] [C] (D] (E) (A}

The die is thrown once. What is the probability

of getting (i) A, (ii) D?

° Watch Video Solution

1. The following table shows the data of the

amount donated by 100 people in a blind

school.


https://dl.doubtnut.com/l/_5KNhykOUTZQ2
https://dl.doubtnut.com/l/_sb0vYScaXoz4

Amount donated (in ) Number of persons
0-100 2
100-200 = ol SRS = il
200-300 %
300400 12 o
400-500 - 17 B =
500-600 20
600-700 ¥
700-800 9
800-900 7
900-1000 4

If the median of the above data is 525, find the
value of x and y.

What values are depicted here ?

o View Text Solution

2. If roots of equation

a—b)z> + (b—c)z + (c — a) = 0 are equal


https://dl.doubtnut.com/l/_sb0vYScaXoz4
https://dl.doubtnut.com/l/_wW2KMJIFQ8px

then prove that b + ¢ = 2a

o Watch Video Solution

3. In Figure the line segment XY is parallel to
side AC of AABCand it divides the triangle

into two parts of equal areas. Find the ratio

AX
AB’

° Watch Video Solution



https://dl.doubtnut.com/l/_wW2KMJIFQ8px
https://dl.doubtnut.com/l/_Zeb5hx2aRTz9

4. Draw a line segment AB of length 8 cm.
Taking A as centre, draw a circle of radius 4 cm
and taking B as centre, draw another circle of
radius 3 cm. Construct tangents to each circle

from the centre of the other circle.

o Watch Video Solution

o

5. Trigonometric ratios for 30° and 60

o Watch Video Solution



https://dl.doubtnut.com/l/_6ttwBQ8SmtxW
https://dl.doubtnut.com/l/_M4JxfIYcIwlw
https://dl.doubtnut.com/l/_xArdaVUT199W

6. From a point an a bridge across river, the
angles of depression of the banks on opposite
sides of the river are 30° and 45°
respectively. If the bridge is at a height of 3 m

from the banks, find the width of the river.

o Watch Video Solution

7. Calculate the area of the designed region in

common between the two quadrants of circles


https://dl.doubtnut.com/l/_xArdaVUT199W
https://dl.doubtnut.com/l/_dWd0um0XKK6p

of radius 8 cm each.

8 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_dWd0um0XKK6p

